Solving Two Step Equations - Maze

Name

Score

TS:18

Solve each equation. Use your answers to draw a path from start to finish.

d b-1 Start
4 -5=6 9 3s+4=31 20 =3 5 a+3)--8
44 20 7 12 22 42
2k+7=9 6 5m-1=9 17 %+2=5 19 9;—4—8
1 0 9 13 12 36
20y-1)=4 3 6n+5=11 10 3b-7=2 3 %+3=8
13 0 1 5 4 77

35
Finish 42 %-5:9 2 Az+6)=32| 4 7h-25=3
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Solving Two Step Equations - Maze

Name

Score
Answer key
TS:18
Solve each equation. Use your answers to draw a path from start to finish.
d b-1 Start
5 ~5=6 9 3s+4=31 20 —— =3 5 a+3)=-8
4 30 7 1 2 42
2k+7=9 6 5m-1=9 17 T +2=5 19 9;—4—8
0 9 13 12 36
2y-1)=4 | —3— | 6n+5=11 10 3b-7=2 3 %+3=8
13 0 5 4 77
35
- v
Finish 42 3 -5=9 2 4(z+6)=32 4 7h-25=3
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